Multi Tasking (Non-Technical) Staff Examination 2019

IRoll No.
ﬂReglstratlon No.

[Name
Test Venue [iON Digital Zone iDZ T Odhav
Test Time [9:00 AM - 70:30 AM

Test Date |06/08/2019

Section : General English

Q.1 Choose the most appropriate word that can substitute the given group of words.

The highest point
Ans " 1. Horizon

X 2. Paradise

i 3. Zenith
75 4. Nadir

Question ID : 239087946
Status : Not Answered
Chosen Option : --

Q.2 Select the most appropriate meaning of the given idiom.

Out of date
Ans X' Being careless

« 2. Something old fashioned
X 3. A worthless fellow

X 4. A date seed

Question ID : 239087944
Status : Answered
Chosen Option : 2

Q.3 Select the most appropriate antonym of the given word.

Cautious
Ans X" 1 Discreet

J 2. Negligent
X 3. Prudent

75 4. Alert

Question ID : 239087941
Status : Answered
Chosen Option : 2

Q.4 Select the most appropriate option to fill in the blank.

There is no in the container for the water to flow.

Ans X" 1 link




J 2. outlet
X 3. room
x 4. escape

Question ID : 239087950
Status : Answered
Chosen Option : 4

Q.5

Ans

Select the most appropriate option to fill in the blank.

The incident made a impression on Karan.

x 1. factual

75 2. rounded
X 3. perfect

o 4. deep

Question ID : 239087949
Status : Answered
Chosen Option: 3

Q.6
Ans

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

The quick thinking of an animal lover saved (1)____ life of a turtle who had (2)___ a fishing
hook and a safety pin. The female turtle was (3)___ on the streets of Mumbai by the animal
lover, (4)___took it to a vet. An X-ray (5)____ the presence of sharp objects in its stomach.
The turtle was operated upon successfully.

SubQuestion No : 6
Select the most appropriate option for blank No. 1.

Xlone
fz.the
X 3.an
X4.a

Question ID : 239087934
Status : Answered
Chosen Option : 2

Q.7
Ans

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

The quick thinking of an animal lover saved (1)____ life of a turtle who had (2)___ a fishing
hook and a safety pin. The female turtle was (3)__ on the streets of Mumbai by the animal
lover, (4)____took it to a vet. An X-ray (5)____ the presence of sharp objects in its stomach.
The turtle was operated upon successfully.

SubQuestion No : 7
Select the most appropriate option for blank No. 2.

x 1. absorbed

x 2. feasted

x 3. drowned
J 4. swallowed




Question ID : 239087935
Status : Not Answered
Chosen Option : --

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

The quick thinking of an animal lover saved (1)____ life of a turtle who had (2)____ a fishing
hook and a safety pin. The female turtle was (3)___ on the streets of Mumbai by the animal
lover, (4)____took it to a vet. An X-ray (5)____ the presence of sharp objects in its stomach.
The turtle was operated upon successfully.

SubQuestion No : 8
Q.8 Select the most appropriate option for blank No. 3.

Ans X" 1 finds

X 2. find
x 3. finding
( 4. found

Question ID : 239087936
Status : Answered
Chosen Option : 4

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

The quick thinking of an animal lover saved (1)____ life of a turtle who had (2)____ a fishing
hook and a safety pin. The female turtle was (3)___ on the streets of Mumbai by the animal
lover, (4)____took it to a vet. An X-ray (5)____ the presence of sharp objects in its stomach.
The turtle was operated upon successfully.

SubQuestion No : 9
Q.9 Select the most appropriate option for blank No. 4.

Ans  of 1 who
75 2. whose
x 3. whom
75 4. which

Question ID : 239087937
Status : Answered
Chosen Option: 1

Comprehension:
In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

The quick thinking of an animal lover saved (1)____ life of a turtle who had (2)____ a fishing
hook and a safety pin. The female turtle was (3)___ on the streets of Mumbai by the animal
lover, (4)____took it to a vet. An X-ray (5)____ the presence of sharp objects in its stomach.
The turtle was operated upon successfully.

SubQuestion No : 10
Q.10 Select the most appropriate option for blank No. 5.

Ans ( 1. revealed
x 2. covered

x 3. protected




x 4. concealed

Question ID : 239087938
Status : Answered
Chosen Option: 1

Q.11 Select the most appropriate option to fill in the blank.

He is a descendant the Mughal royalty.

Ans X1 for
o 2 of
/X 3.in
X 4.10

Question ID : 239087932
Status : Answered
Chosen Option : 4

Q.12 Select the most appropriate option to substitute the underlined segment in the given
sentence. If there is no need to substitute it, select No Improvement.

Only me can solve the problem.
Ans « 1. Only I can

x 2. Me can only
x 3. No Improvement

x 4. Only me could

Question ID : 239087928
Status : Answered

Q.13 Choose the correctly spelt word.
Ans X" 1 Jelousy

x 2. Corupt
x 3. Intrest
( 4. Miniature

Question ID : 239087948
Status : Answered
Chosen Option: 2

Q.14 Select the most appropriate synonym of the given word.

Obvious
Ans x 1. Vague

x 2. Various
x 3. Flexible
W 4. Evident

Question ID : 239087939
Status : Answered
Chosen Option : 4




\

Q.15 Choose the most appropriate word that can substitute the given group of words.

One who can't speak
Ans x 1. Bevy

x 2. Quiet
x 3. Orphan
o 4. Dumb

Question ID : 239087945
Status : Not Answered
Chosen Option : --

Q.16 Select the most appropriate synonym of the given word.

Optimist
Ans X" 1 critic

X 2. Distinct

x 3. Pessimist

« 4. |dealist

Question ID : 239087940
Status : Not Answered
Chosen Option : --

Q.17 Select the most appropriate option to substitute the underlined segment in the given
sentence. If there is no need to substitute it, select No Improvement.

When the little girl loses her doll, she began to cry.
Ans X" 1. loss her doll
X 2. No Improvement a a
x 3. losing her doll

o 2. lost her doll

Question ID : 239087929
Status : Answered
Chosen Option: 1

Q.18 Choose the correctly spelt word.
Ans X 1 Peirce

x 2. Indevidual

« 3. Extract

x 4. Luxeuries

Question ID : 239087947
Status : Answered
Chosen Option : 3

Q.19 Find the part of the given sentence that has an error in it. If there is no error, choose ‘No
error’.

Pallavi is the cleverest of the two sisters. /No error

Ans




X 1. of the two sisters

X 2. Pallaviis

( 3. the cleverest

X 4. No error

Question ID : 239087926
Status : Answered
Chosen Option : 1

Q.20 Find the part of the given sentence that has an error in it. If there is no error, choose ‘No
error’.

Either of the two books will met my requirement. /No error
Ans X" 1 Either of the

X 2. No error

« 3. will met my requirement

X 4. two books

Question ID : 239087927
Status : Answered
Chosen Option: 3

Q.21 Select the most appropriate meaning of the given idiom.

As a matter of fact
Ans ( 1. Actually as it happens

X 2. To seize a good opportunity
X 3. To forgive and forget

X 4. Just at the last moment

ionID: 239087943
Status : Answered
Chosen Option : 1

Q.22 Select the most appropriate antonym of the given word.

Tranquil
Ans X 1. Calm

X 2. Peaceful
x 3. Cool
( 4. Stormy

Question ID : 239087942
Status : Answered
Chosen Option : 4

Q.23 Select the most appropriate option to fill in the blank.

He done it.
Ans X" 1. should have been

« 2. shouldn't have




x 3. should had not
X 4. should not had

Question ID : 239087931
Status : Answered
Chosen Option : 2

Q.24 Select the most appropriate option to substitute the underlined segment in the given
sentence. If there is no need to substitute it, select No Improvement.

Mr. Kansal has been living in Delhi since 10 years.

Ans &1 until
J 2. for

X 3. No Improvement

x 4. from

Question ID : 239087930
Status : Answered
Chosen Option: 3

Q.25 Find the part of the given sentence that has an error in it. If there is no error, choose ‘No
error’.

My brother brought a few rice while coming from the market. /No error
Ans X 1. No error

x 2. My brother brought
J 3/a few rice while

X 4. coming from the market

Question ID : 239087925
Status : Answered
Chosen Option : 2

Section : General Intelligence & Reasoning

Q.1 i Ry fereul & § 39 T & g st Fafafe@a siaer & us Rig (?) & e uR syt

3,7,22,89,?
Ans X 1452

o 2 446
/X 3.448
/X 4.440

Question ID : 239087687
Status : Answered
Chosen Option: 2

Q.2 ®:g# K, M, 0, Q, S 7T U &hess Y 3R @& ek Yk TR U & 36— @2 frg ma & (=it
@ fF A s s A )1 Q, U & arfi sl g@R1 81'S, M & gia arefi iR 81 K, O & &rfi ok gur
210, Q 3 gia arfi 3R &1 0 & arfi 31k R T UR i 91 gk @1 fovar mam &2

Ans (1.M
K 2.k




X 3s
X 4au

Question ID : 239087683
Status : Not Answered
Chosen Option : --

Q.3 A g g usi & o U IR I a8 I HYE] R el F P g g &1 g g
YT Y T A §T, ATE I WA T4 G A1 et G = uefta g g, 9t e 6 ufeg
3 fRr RruiRa Fifsig i g g 9-3/a1 P, Fu=t o arfdha 9 @ srgaror w=ar/aa
gl

FHYU:
1. < wrsfohet s T 81
Il. © s TR &

forsep:

. 1S eR arsfohe 1@ 81
Il. & TR g5 &1

Ill. o arsfore d=a &1

Ans X" 1 2T e 1| qu 1l SERoT A |
25 2. 3 e | @ 11 SRl o €1
75 3. et Frsy 11| IIgERT Rl 21
of 4. e Freg Il SrgERon e 21

| Question ID : 239087685
Status : Answered
l Chosen Option : 2

Q.4 e fafdre e e &, ‘RIGHT’ &t ‘98653’ forar i &, ‘CLERK' @t ‘04297’ forar siren g1 3t
He HTNT | ‘GREET’ <Rl hiS o gIIT?

Ans  off 1 69223

2 2.69227
75 3.69330
/X 4.69332

Question ID : 239087680
Status : Answered
Chosen Option: 1

Q.5 fF=fafda el 7 @ 59 sigr gm ot g9y, o+ ad @dy &, &t iR Ry g siargm d 81

RP:SQ:?
Ans "1 LK

o 2.KG:LH
X 3.MA:NZ

75 4RV QW

Question ID : 239087677
Status : Answered
Chosen Option : 2

Q.6




Ans

faafea wea A v v Bwest & @ W [ea () F B9 W = arer A & g

R O R O R O
7 7 7P ¥
A A A A Q
O 9
vi1|7 P
A Q
40 9
X2|7 P
A Q
RO 9
X3|v P
A Q
RO 9
Xal7 P
v Q

Question ID : 239087693
Status : Answered
Chosen Option: 1

Ans

Q.7 A Ry g us &, o wu= R I a8 I HYA! R A1 Fo e R g &1 g o

FUT Sl Hel A g, T8 & AT ¥9 F T 24t § = uedia g4 8, 93t Fsenut @t afen
3z foRr RufRa Aifsig fk g e i Q/a1 Frerd, fu=t o1 aifdhia =u & srgaroT swar/sa

gl
HU:

. g YR T gl
1. <RYS a7 f T 81
fArsepf:

I. o W gfa gl
Il. 5 "= A gl

of 1. e e 11 srgERor e 81
75 2. oft Freene argerRon 78 g 21
7 3. Shae i | SgER0T Rl 21
75 4. 2 Frsene | g2 | a0 R

Question ID : 239087686
Status : Answered
Chosen Option: 2

Q.8




TfE T EUT H AB @ W I@T AT AN & TTE ool FRplodl H T i N MMl T APl T e
o e

Ans

s

v [

[ /)

&

<= ||IX4

[ /)
N
X 1|‘
/a\

Question ID : 239087696

Status : Answered

Chosen Option : 2

Q9 77 M@ T S A BT e @ F S F w9y 7 @ FEw w1 g

Ans
- @0

X 2

W 3




Question ID : 239087698
Status : Answered
Chosen Option : 3

Q.10 = f@d g gl @ RER F&e W=, 16 + 19 x 51 + 153 — 12 1 A AT gHM?
X dYr +
Ans X1 57
W 26
75 3.51
75 4.63

Question ID : 239087691
Status : Not Answered
Chosen Option : --

Q.11 39 farehed o1 aa+1 &3 St JIeR 2reg § It R @ Hafda @ S8 @R 2 uge 2reg 9 |afda 81
AT : fohdTe :: §seT: ?
Ans X1 3
o 2 @R
75 3.8
P R

ion ID : 239087675
tatus : Answered
Chosen Option : 2

Q.12 Select the option that is related to the third term in the same way as the second term is
related to the first term.

Office : Clerk :: Site : ?
Ans X" 1. Servant

X 2. Shopkeeper
x 3. Teacher

« 4. Engineer

Question ID : 239087676
Status : Answered
Chosen Option: 1

Q.13 Qe fafre ge wirr &, ‘GARAGE' it *JEUEJI’ forat siar &1 3+t e imaT & ‘OFFICE’ <hT il ot
ghm?

Ans X" 1. JKINGJ
75 2. RKIMFI
/X 3. JLINGJ




o 4 RIMFI

Question ID : 239087678
Status : Answered
Chosen Option : 4

Q.14 Ru 7w Sz F1 wETF e S @R 3@ el # g o g sl F e de @
T HEM

IR

?

Ans

A
R

X 4

5%
Ba

Question ID : 239087694
Status : Answered
Chosen Option: 3

Q.15 =2 ueh sjzaen § i g, ad @ g sier g Al Ran mar g1 Ry e Reen # @ ag g@@ Reea
Mg, St sizaeT ot grT R

ML, RQ, WV, BA, ?
Ans X 1 HE

o 2.6F

/X 3.GE

X 4 HF

Question ID : 239087674
Status : Answered
Chosen Option : 2

Q.16 =il v #. v v Reedt F & 337 TEw #1 9 3 27T fEs () F T W e

[ —

8
3
9

Ans X115
v 2 18
K317
Xa

LV T (ST |
W) oo
o0 O B

[ Question ID : 239087690




Status : Answered
Chosen Option : 2

Q.17 Qe fafre ge wirar &, ‘FOSSIL @t 'KHRRNE' forat Srat g1 3+t e v # ‘FUNGAL a1 ahts T
ghr?

Ans  of 1 KZFMTE
75 2. KAFMTE
/X 3.LAGMUF
75 4. LAGNUF

Question ID : 239087679
Status : Not Answered
Chosen Option : --

Q.18 39 faeheq 1 T o3 St A Twear @ It avg @ e g S gud dwen ugeht g @
Tefda &1

18:323::38:7?
Ans X" 11339

o 21443

/X 3.1449
75 4.1331

Question ID : 239087689
Status : Answered
Chosen Option : 2

Q.19 ®: 31eATUh A, D, G, J, M AT P &hes; Y 3R H& ech Teh A & ) (=8
T fE s mnda) I M, 6 & arff etk dfe=r 21D, J
gl
ofe g P & u<l it g i fxem A morn v &, 9t P ?
Ans X714

K 2.2
W 31
X 43

Question ID : 239087682
Status : Not Answered
Chosen Option : --

Q.20 == fog 7y €t gl A RER gee R A=fofEa & @ i ar aftezor gt gm?
X JdUT +
Ans X" 1.13-12x5+11=46
K 2.4+9x11+3=37
of 3. 11x6:18+54=29

X 46x11+13+11=17

Question ID : 239087692
Status : Not Answered
Chosen Option : --




Q.21 dfgaxg¥ A, K, P RaUT T Tch & R Ueh Tl et & (S At fr d st e A @) KaarP &
A FaATIPKGFFRZIRPHFEAF MR 2IA TEF e iR sl dagaea fia g2

Ans X1 T
5 2P
< 3R
W 2 A

Question ID : 239087684
Status : Answered
Chosen Option : 4

Q.22 3wy & it wom amgpfoat & R@C 3ER FES F v g F A e ¥R S B e #) 5w
FTHT Te HACT & I & T oW A F @ e S s em

i ﬂ =
A
Ans v A
x1 v . v
v o A
ATA
vV_V
A v
2.
X A v
A A
vV_V
O
v v
p
A v
ﬁuﬁ
vV_V
O
v v
4,
« A o A
ATA

Question ID : 239087697
Status : Answered
Chosen Option : 4

Q.23 e fafre ge wrar &, ‘POEM'’ &t *1351516' farar e &, ‘ROB’ &t '21518' forar strar g1 3t
He HTNT | ‘MAID’ &1 SIS T gRIT?

Ans & 1.13195

o 2 49113
7% 3.59146
/X 4.13194

Question ID : 239087681
Status : Answered
Chosen Option : 4




Q.24 A Ry faeeal & & 39 HwE= &t g st =i siaen 3 us Rig (7) & wum w smgft
307, 303, 299, 295, ?
Ans  of 1207
/X 2.293
< 3.287
/X 4.289

Question ID : 239087688
Status : Answered
Chosen Option : 1

Q.25 & o e phomt F ¥, 3@ IeaT Wl F ghAw S A & 2 e amply wefiasmatateE #

L/

v

Ans

X 4

Question ID : 239087695
Status : Answered
Chosen Option : 1

Section : Numerical Aptitude

Q1 fordfr =7 &1 HT=AT (inradius) FUT TRESAT (circumradius) T FTE e 82
Ans X1 P

X242:3

K33

W42




Question ID : 239087820
Status : Not Answered
Chosen Option : --

O grx+y=52aux-y=20% a x:y & A o §?
A XK1.3:2
<23
VER'E
x4 7

62 B = S

Question ID : 239087809
Status : Answered
Chosen Option : 3

Q.3 C
2.e r—r!rr‘;—g FT AgcdH FANIa® (T 8 %) foraer 27

16’32
Ans ; 7

X1 =
K2 —
K3 —

Question ID : 239087799
Status : Answered
ption: 4

Q.4 A Fur B $r AT 3T FAer 212000 T=r 18000 ¥ 3%
AT AW TR a4 8, O 398 § Sode 5 ATg Thaer Uiy =T 82

Ans  of 1. 32000
X 231500
X 3. 3800
X 421000

Question ID : 239087811
Status : Answered
Chosen Option: 1

Q5 gy x+y+2z=360Tux:y:2=4:3:2% Ay+z-x s A Faar 2?2
Ans X1 g0

< 2 60

#< 3 30

v 4 40

Question ID : 239087810
Status : Answered




l Chosen Option : 4

Q.6 =y femr T &7 sm e T 8% # 2 eI AT F wE Fnr Ay 5w Fr gt #

400
350
300
250
200
150
100

50

346 336
309 312 314 318 322

LT AT HE

DI D2 D3 D4 D5 D6 D7 D8 D9 D10

o

D3 7= D8 & W &Rl T HE & AT e 27

As 141

< 2 45

X3 37

< 4 33

Question ID : 239087823
Status : Answered
Chosen Option : 1
= = =
Q.7  fashr Femem 9 5% 1 AT ST &7 A 2 T & WINOT w4 99T TSI ST H 3o 225
T faaer 2

Ans o 1 310000

« 2 215000
3212000
# 4 35000

Question ID : 239087812
Status : Answered
Chosen Option : 1

Q.8 el awg @t 20% oM T TUT 18% T T I W Rea A F AW 570 F1 0% 5 12% @
T AT AT, a TG T qou Reaer gem?

Ans  X1.31760
X 2 31540
V' 31320
X 4 31650

Question ID : 239087807
Status : Not Answered
Chosen Option : --

Q.9




A faar o &3 s TRy wifder &9 & g7 e e # wE Fnt fr gEm & gt §

400
350 309 312 314 318 322

gy 281
300 9, 26

250
200
150
100
50
0 T T

DI D2 D3 D4 D5 D6 D7 D8 D9 DIo

346 356

FT & FEr

o

oiféer &9 & w10 S & @ SR F Fo wEw A 3
Ans X 1. 3882

< 2 3462

v 3 3062

< 4 3862

Question ID : 239087822

Status : Answered

Chosen Option : 3

Q10 X FH FT A 3T IERT T R TFar &1 Y 58 718 F7 335e7 30 B F s TFar &1 X Y T
Z U |1y (Ao 39 # &# 9 R # T gnd §1 Z 35 F1 H ader e T # Y gear 27

ans X 1120
v 90
X 3/45
X+ 60

Question ID : 239087815

Status : Answered

Chosen Option : 2

Q.11 23000 #r TR F1 20% TS F TFafe o= X (FHF &7 ¥ Fofem) ® F=y o @ &) 2 oo
T e ST e 37

Ans X 121360
< 2 31200
V'3 21320
< 4 31440

Question ID : 239087813

Status : Answered

Chosen Option : 3

Q.12 Tt 397 (Ri=R) 7 9% o &9wer 25344 cm? § T 3TH 1% 32 cm §1 37 Io7 (A=) =1
HIEA TFraar § Sadr aiar Ru s s (Reis) & saas & = 96 87

Ans XK 13168 cm3
v 2 6336 cm?
/< 3 1584 cm?




< 4 9504 cm?

Question ID : 239087818
Status : Not Answered
Chosen Option : --

Q13 39+ 26+4+22+11x2+4x3
T AT Tohaar 87

2of5-3(7+10+2-3x3)

Ans 61

Ko

49

X2 2

2

2

39

K3 =

2

v

2

Question ID : 239087801
Status : Not Answered
Chosen Option : --

Q14 e 3xg 1 oS HEw 11800 ¥ ARy =AMy 32% B, A Rew Few B #2

Ans X 1. 32288
V2 32376
X 3 32456
X 4 32496

Question ID : 239087808
Status : Answered
Chosen Option: 2

Q.15 #=r Rar o g5 3w et e &7 & g ertaeer BAT # = et $r Jwaw #roater 2

400
350
300
250
200
150
100

50

Frt fr dr

0+

s 281
242 A

|

345 356
g0 312 314 318 32

DI D2 D3

d
D4 D5 D6 D7 D8 D9 DIO

o=t

D10 & W ®R1 & FE=am, D1 & T FRT H1 9= ¥ ot wfaea (&7 eudes e a%) #fow 37
Ans X1 57.11%
<2 5211%
<342 11%
v 4 47.11%

Question ID : 239087821
Status : Answered
Chosen Option : 3




Q.16 #r=r R a7v HieFd F Toe ST TET AT 35 HoA 9T SeoaTal S HEAT H @ o E

TRl ToolaraT Hr
FET HE=T

[ B~ 7 B S B
N W= W

TRl I TEAT S ACTHT fhaer &2
ans o3

X225

<34

X445

Question ID : 239087805

Status : Answered

Chosen Option : 1

—_—

Q.17 e 35 9T 20% H T &4 F TTE Y AR 30% F T FA §1 HET Aow, aE Hom
e Wi 82

Ans X 1.122.5%
X 2 137.5%
X 3 150%
v 4 162.5%

ion ID : 239087804
tatus : Answered

Chosen Option : 2

1 T F RAFOT 24 om ¥ FHF IRET Fraar 2
Ans X128 cm

v'2 482 cm
< 3 3672 cm
< 4 4642 em

Question ID : 239087819

Status : Answered

Chosen Option : 2

Q19 (244+16X5—80f4) + 84 X 48 ~ 24 X 6 + 4 + 3 FT AT Faar &2
Ans 139

Ko —

3

XZE

5




121

36

K4 =

Question ID : 239087800
Status : Answered
Chosen Option: 1

Q20 A B & 15% 3170 ¥ B, A ¥ fras wfaea &7 (Guead & & T o) 272

Ans

X 1.917%
X 2 16.14%
V'3 13.04%
X 4 6.14%

Question ID : 239087806
Status : Answered
Chosen Option: 2

Q21 = Fr wyeE () TR 14 km/h §1 A B FeEEEE (3R T 10 kmih #1 9g J9 e

Ans

S # 72 km 1 I e FAT # T T FHA 87

X1 8 ge
v 6 EE
X34 g
K412 g

Question ID : 239087816
Status : Answered
Chosen Option : 4

Q.22 v F1 24 a & 18 km HT 3T 77 T Fw 1 e 7@ H 7y FW A G & T 135 km A

Ans

g0 freer fiee & a9 # EedT 87

X148 e
v'2 90 RAee
X 3 50 e
< 4 75 fAete

Question ID : 239087817
Status : Answered
Chosen Option: 2

Q23 (PQ); (QR); (RP) #r siwa g F3er: 13, 14 Fu1 12 a¥ &1 Q F 31y Fa=h 2

Ans

<113 ¥
v'2 15 a§
<312 a8




X411 %

Question ID : 239087803
Status : Answered
Chosen Option: 1

Q.24 A frdr F F7 e 30 T F T FehaT ¥ B IH FT F 3¥FeT 60 GF HF H WFA FI TR I 5
o g% T Y FT w1 &, a1 FA F fohder FEEr 99 @ FwEm?

X
X2
v
X a

Ans

L I3 R =S I Y % T T T

Question ID : 239087814
Status : Not Answered
Chosen Option : --
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